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Ts9M Tenkasi District Common Examinations ~ 
Commcrn Half Yearly Examination - December 2022 -

Time : 3 .00 Hrs. 

Standard 9 
MATHEMATICS Marks : 100 

I . Choose the best answer: 14X1=14 
1) If Au B = AriB, then 

a) A~ B b) A = B c) A C B d) B C A 

2) I f LJ = {x : x '= N and x< l0}, A = {l, 2, 3, 5, 8} and B = { 2, 5, 6 , 7 , 9 } then 

nf (Au B)'] is 
a) 1 b) 2 c) 4 d) 8 

3) In a city, 40% people like only one fruit, 35% people like only two fruits, 20% 
people like all the three fruits. How many percentage of people do not like any 
one of the above three fru its? 
a)S b)8 c) lO d ) lS 

4) Which one of the following has a terminating decimal expansion? 

5 8 14 
a) 64 b) 9 c) 15 

5) When (2./s -✓2 ) is simplified, we get? 

a) 4,/s + 2✓2 b) 22 - 4,/10 c) 8 - 4,/10 
6) The root of the polynomial equation 2x+3 = 0 is 

1 -1 -3 
a) 3 b) 3 c) 2 

7) Degree of the polynomial (y3-2J (y3 +1) is 
a) 9 b) 2 c) 3 

d) 2,/10 -2 

- 2 
d) -

3 

d) 6 

a1 b1 
8 ) If a

2 
~ bi where a1x+b1y+c1 = 0 and a

2
x+b2y+c2 = 0 then the given pair of 

linear equation has ___ solutions. 
a) no solution b) two solutions c) unique d) infinite 

9 ) If bisectors of L.A and L.B of a quadrilateral ABCD meet at 0 , then LAOB is 

1 1 1 1 1 
a) L.C + L.D b) 2 (L.C + L.D) c) 2 L.C + 2 L.D d) 3 LC+ 2 L D 

10) AD is a diameter of a circle and AB is a chord. If A:b = 30 cm· and AB= 24 cm then 
the distance of AB from the centre ·0fth'~ ci~cle is. , 1 • 

a) 10 cm b) 9 cm c) 8 cm ,-. ' ' · d) 6 cm 
11) The point whose ordinate is 4 and which lle'S on tihe y-~xis is ~-" 

a) (4, 0) b) (0, 4) c) (1 , 4) d) t4, 2) 
12) In what ratio does the y-axis divides the. line joihin~j"the ·poir,ts (-5, 1) and (2, 3) 

internally 
a) 1:3 b) 2 :5 c) 3 :1 d) 5 :2 

13) If sin 30° = x and cos 60° = y, then x2 +y2 Is 
a) 1/2 b) O c) sin 900 d) cos 900 

1- tan2 450 
14) The value of 2 is 

1+ tan 450 
a) 2 b) 1 c) 0 d) l / 2 

n . Answer any 10 questions: (Question No. 28th compulsory) 1ox 2= 20 
15) If n[P(A)] = 256, find n(A) . 
16) If A = {6, 7, 8, 9} and B = {8, 10, 12} find MB. 

17) If n(A) 0 36, n(B) = 10, n(Au B) == 40 and n(A') = 27 fi nd n( U ) and n( At""'18) . 

18) Give any two rational numbers lylng between 0.515 11 5 111 5 .... . .... anc1 
0.5353353335.. . . . .. .. . . 

19) Simplify: 3fis + 5J4s _ Ji43 

20) Find the number of zeros of tho polynomials 
represented by their graphs. 

Lt 1 I 1r .. 1 
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Ts9M 
21) 

2 

Factorise : b ,2 t- l~x- 27 -
Find the GCD- of 35xsy3z4, 49xZyz3, 14xy2z2. 

22) 
23) 

The chord of length 30 cm is drawn at the distance of 8 cm from the cent re of the 

circle. Find the radius of the circle. D.E--,-_--,,._C 

24) find the value of x0 in the given figure . 

25) 

26) 

If (x, 3), (6, y), (8, 2) and (9, 4) are the vertices of a paralle logram taken in order, 

then find the value of x and y. 
If the centroid of a triangle is at (4, -2) and two of its vertices are (3, -2) and 

(5, 2) then find the third vertex of the triangle. 

3 sin A~ cos A 
2 7) If cos A = 5 , then find the value of 2 tan A 

28) Find the values of the following: 
(cos oo+sin 45o+sin 30°) (sin 90°-cos 45°+cos 60°) 

III. Answer any 10 questions: (Qn.no. 41 is compulsory) 10 >< 5=50 

29) If A= {x:xez, -2<x~4}, B = {x :xew, x~5}, C = {-4, -1, 0, 2, 3, 4}, then verify 

An (Bu C) = (AnB) u (An C). 

IV. 

30) In a group of 100 students, 85 students speak Tamil, 40 students speak in English, 

20 students speak French, 32 speak Tamil and English, 13 speak English and 

French and 10 speak Tamil and French. If each student knows atleast any one of 

these languages, then find the number of students who speak all these three 

languages . 

31) Find any five rational numbers between ¼ and ½. 
~ 2 1 

32) If x = ._::, + 2, then find the value of x + 2 . 
X 

33) Find the value of m. If (x-2) is a factor of the polynomial 2x3-6x2+mx+4. 

34) Find the quotient and remainder when (x3 +x2 - 7x-3) is divided by(x-3) using 

synthetic division. 

35) In the given figure L A= 64°, LABC = 58°. If BO and CO are the bisectors of L ABC 

and LACB respectively of 6ABC find xo and yo . 

.:5i v rn<-ufY)~ . VI / A ~-r, ~ ~.+-1nc._ f/-~)/ ~ 
V ~ ,_ b 2-? 8-rJ 1 / ~o 

B so 

1°'{¼-) k.A/2-,' Di s ,., f_ t (L f . C 

36) If PQRS is a cyclic quadrilateral in which L PSR = 700 S 

and LQPR = 40°, then find LPRQ. 

p 

37) Usi~g section formula, show that the points A(7 - 5 ) 8 (9 
collrnear. , , , -3) and C(13, 1) are 

38) T~e vertices of a triangle are (1, 2), (h, -3) and (- 4, k) . If the centroid of the 

t~tangle is at the points ( 5, -1) then find the value of J ch + k)2 + (h + 3k)2 

~
9

) ~!n~ :~e values of tan7° tan230 tan6oo tan67o tans3o · 

0) in e area of a right angle triangle h h . 
acute angle is 24024" w ose ypotenuse Is 10 cm and one of t he 

41) Solve for x and Y, 2x-. = . -
Answer the questions: Y 3, 3x+y - 7 by the method ·of elimination. 

4 2) Construct th 
Co e ce~trold of M>QR whose sides are PQ = 8 cm - 2 x 8 = 16 

Al nst~uct _the ctrcumcentre of the MBC with AB = 5 , QR - 6 cm, RP = 7 cm. ( OR) 

43) Drsaowt t~ ctrcumcircle and find the circumradius of th;~:; = 600 and L B = s oo. 

Use e graph for the equation y = 2x · 
graphical meth d . (OR) 

o to solve the equation x+y = 7 _: x-y = 3 _ 
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